Area division by Medians (sifer®13ii gRT &5wd faureH):




6. In AABC, O is the centroid and AD, BE
and CF are three medians and the
area of A AOE = 15c¢m?, then the
area of quadrilateral BDOF is

frasr 44BC &, 0 Fegw ¥ AR
AD, BE 9T CF dieif AfCT=w ¥ |
A AOE &1 8 F%aT = 15cm? & a
TS BDOF FT el ?

a) 15 cm? 30 cm?

c) 45 cm? d) 90 cm?







7. The vertex A of AABC is joined to a point D on

A BC. If E is the midpoint of AD then ar (ABEC) =?
fs1sT AABC &1 ofi¥ faig A 8aT BC 9 &g D

9 SST ST ¥ N E , AD F Hew R #

af (ABEC) T &% Il &
B area(AABC) b)% area(AABC)
0T b c)iarea(AABC) d)% area (AABC)

A
x)
ABC—REC |
Aoty a+b &) c




d.In the given figure, PQR is an

«— equilateral triangle with side as 12cm

S and T are the mid points of the

sides PQ and PR respectively. What is

the area (in cm?) of the shaded
region?

& s o A, PQR TH HHETE
ot & forad s 12em B S
auT T, FA: aﬁnpqaznpna}:
qET ﬁg%|mﬁ»—cra»‘rmw
(cm? ®) Fa1 872

a) 10V3 /) 123
c) 9V3 d) 14V3

| SSCCGL T2, 19 Feb 2018 | 5



9. In the right angle triangle 2C = 90°,
AE and BD are two medians of a
triangle ABC meeting at F. the ratio
of the area of A ABF and the
quadrilateral FDCE is:

farelt waraior e & 2c=90° §,
AE&ﬁTBDﬁWﬁﬁﬂHABca‘»‘ra’r
Aaftgsr § o Rig F @ e §
AABF & &1 3T TqefsT FOCE &
QTG HT IHTUTd:

%I.:l b)1:2

c2:1 d2:3




lo* XYZ is a triangle. If the median ZL and YM
intersect each other at G, then Area of
A GLM : Area of A XYZ is:

Xyz s B g1 It mfasw zL 3k
YM TH-g@l #I fig ¢ w0 gfa=afea w3
g, @ AGLM &T &9%el : A XYZ &T 9%
HT AT AT HIAT |

a)1:14 /fl: 12

c1:11 d)1:10

|SSC CHSL, 12 Oct 2020 SZ| 7



(1. In AABC, D and E are the mid points of
sides BC and AC, respectively. If AD =
10.8 cm,BE = 14.4 cm and AD and
BE intersect at G at a right angle, then
the area (in cm?) of AABC is:

AABC# D 3R E Fa: a1 BC 3R
A % wem fag & IR 4D =
10.8cm, BE = 14.4cm 3X AD
3R BE wasior ¢ W yfasfea s
g, df AABC FT 89%d (cm? ®) A

a) 80.64 103.68
c) 56.76 d) 53.76

| SSCCGL T2, 15 Nov 2020 | 8



Median special cases:

Sw%ajﬂme.&'m& aSum of all olos . A

M L
M L
B C
58C°= H(QNH E)L) X
Hekon: Pr o ‘
SB(= z

D —_—



|2. In AABCZ ZA = 90°. If BLand CM are the medians, then :
AABC #, 24 =90° &, afg BL 3T cM AfTsT &, ar:

a) 4(BL* + CM?) = 3B(? 4(BL* + CM?) = 5BC?
c) 3(BL? + CM?) = 4BC> d) 5(BL? + CM?) = 4BC*
2
S B o
A L <

SSC CHSL 02 Jul 2019 S3



|3. In a triangle ABC,BD & CE are two medians
which intersect each other at right angle.
A AB = 22,AC = 19, find BC =?
31rsr ABC #, & st BD 3R CE &
qE B WHSIT W Fred ¥ IR AB =

\3 22,AC = 19 99 BC $1 €1 F4T gen?

T € D /fﬁs b) 14 c) 15 d) 11
2
| /5/ BC= UgUt 36|
B C =315 )¢9

| | 11



J4. In AABC, right angled at A, BC is 5cm
. BL and CM are medians . If BL =

i cm , then CM will be -

AABcafrsﬁA W gASONT ¢,
Bc=5 3. & o AfegHw
BLsﬁTCM%IamﬂaﬁBL_

m {H. § O M A dFES

ﬂmﬁ’r gt ?
2V/5 cm b) 5v2 cm
c)10vV2 cm d) 45 cm




A5( 20
JAS Qvdr

|5+ BD and CE are the medians of AABC, right

C of
5
\O
O
?
A S B
SZSX

5)(!01) }4(’2%\3 HBD)

angled at A. If CE = \/Z_cm, BC =

10cm, then the length of BD is: )
BD 3il¥ CE, AABC # #feg=wiv § st fF

A W gHEOr ¥ AR cE=Bem,

2

BC = 10cm &, df BD &1 d€E A
Cy|

a) 3V7cm /‘gﬁcm

c)V13cm d) 3v5cm

|SSC CHSL 04 Aug 2021 S3| 13



[¢- PQR is a triangle such that PQ = PR. RS

P p&;?& and QT are the median to the sides PQ and
PR respectively. If the medians RS and QT

intersect at right angle, then what is the

g T value of (Z—i)z?

PQR 3 YHR TF e & fF PQ =

PR¥| RS d4T QT HH: TSI PQ AT
PR 9T ARTHT 2 IR HOTHT RS
& R @ ar w&®or T gfaede e &, &

SyR= Wiefawy” (52 @ i
C L 3 5
@y /"

c)2 d) None of the these

| SSC CGL T2, 09 March 2018| 14



|7 In APQR, 2P = 90°. S and T are the mid
K points of sides PR and PQ, respectively.

What is the value of RQ®
! vai QS?+RT?°

APQR,H 2P =90°§| S BﬁTT HHU: PR
3R pa & 7w g B T AT

Qs2 +RT2

SSCCGL T2, 16 Nov 2020 15



[8Ina AABC, LA =90°, If BM and CN are

2 2
C two median,% is equal to:
AABC #®, < A = 90°, If¢ BM 3R CN 3
M AT § EﬁBM;ZZCNZﬁmﬂ?W%';
3
c)- d)-
A N & 4 4

SSC CHSL, 21 Oct 2020 S3| 16



(9

#

In AABC, 2B = 90°, AD and CE are the
medians drawn from A and C, respectively.
If AC = 10 cmand AD =+/55cm, then
the length of CE is:

AABC®, 2 B = 90° §| AD 31X CE H#r:
faegat A 3k ¢ @ it 718 Aftawe §
Ife AC = 10 cm 3R AD =+/55cm %,
ar CESY g AT R

a) 2V/15 cm b) V70 cm

c) V66 cm d) 5vV3 cm

17
| SSC CHSL,16 Apr 2021 si



20. AABC is circumscribed by a circle such that
AC is the diameter. AQ and CP are

® medians of the triangle. If PQ = 5 cm and

@ /'A\ AQ = 2v/13 cm then find the length of
A\ < CP.

','\ [ AABcwa?raamszfﬁfrsé%

. & ac @ & 4Q 3R cp f @

AfegHIT § 3PN PQ=5cm 3R

AQ=2V13cm & d@ cP & dFE

. 95 T3, -
- 2 a)8cm 3cm
i }'(((P + 51) c) V69 cm /?9 cm
[3=cp*




19



21. PQR is a triangle right angled at Q, if X

oL, and Y are the mid-points of the sides

XY= 7 PQ and QR respectively, then which
2 P(L one of the following i |

XY =_% PQR, F10T Q W HAHIUT B 3,

Y 39 X 3R v semt P AR QR &

g | X qEg g af e # @ Fi=m

H— t gl aﬁ ?
3 , Q@ 3 vy=> R afRX? + PY? = 5XY?

- 2 9 _bYRX? + PY? = XY? + PR?
SPR (4@ + LY ) _ef4(RX? + PY?) = 5PR?
KX7_+ P\('Lz L L /’kXZ + PY? = 3(PQ* + QR?)

| CDS 20121 | 20
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